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with(plots): with(plottools):

C =4:
B: =1- 2*
A =1+2*%

l:
2% :

pa: =1/ 2:

pb: =1/ 2:

pc: =1/ 2:

T:=0 + 0*I:

kol i kbodu: =1500:

nmov: =proc(t)
ci slo:=rand();
i f (cislo<333333333333) then

RETURN (Re(A) + (Re(t)-Re(A))*pa + I*(1mA) +

(In(t)-1n(A))*pa))

else if (cislo<666666666666) then

RETURN (Re(B) + (Re(t)-Re(B))*pb + 1*(In(B)

+(I'n(t)-1m(B))*pb))

el se

RETURN (Re(C)+ (Re(t)-Re(C))*pc + I*(1mC)+

(Im(t)-1m(Q))*pc));
fi
fi;
RETURN
end:

Warning, “cislo” is implicitly declared local to pr

body|[ 0] : =0;

body, :=0

for h from1 to koli kbodu do
body|[ h] : =nov( body[ h-1]);
od:

poi nts: =seq( body[i],i=100. . kol i kbodu) :
> conpl expl ot ({poi nts}, styl e=poi nt, synbol =circle);

ocedure "mov’






